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1 Introduction
In RAN4#107 meeting, discussion on RRM core requirements for enhanced RedCap UE was conducted and a WF was approved [1] . In this paper, we provide our further consideration on the remaining open issues on RRM impacts for Rel-18 eRedCap UE.
2 Discussion
Enhanced eDRX in RRC_INACTIVE (>10.24s)
	When to measure when configured with both IDLE and INACTIVE eDRX configurations larger than 10.24s and when the PTWs are partially overlapping for serving and neighbour cell measurements
· UE performs measurements during:
· Option 1a: Max (RAN PTW, CN PTW)
· Prioritize measurement time during the PTW at the cost of increase UE complexity.
· Option 1b: Min (RAN PTW, CN PTW)
· Prioritize UE complexity at the cost of reduced measurement time.
· Option 1c: RAN PTW
· Other options are not precluded
When to measure when IDLE and INACTIVE eDRX PTW do not coincide
· Option 1: RAN4 to agree that UE follows the INACTIVE eDRX when IDLE and INACTIVE eDRX PTWs do not coincide
· Option 2: No need to define requirements for the case when PTWs do not coincide. 


RRC_INACTIVE mode UE could receive both RAN paging and CN paging. For INACTIVE eDRX longer than 10.24s, eRedCap UE in INACTIVE mode could receive two sets of eDRX cycle and PTW configurations from CN and RAN respectively. Based on previous meeting progress, RAN4 has agreed that requirements for serving cell measurements are specified in the step of T, and requirements for neighbor cell measurements (detection/measurement/evaluation delay) are specified in the step of RAN configured DRX cycle. Furthermore, it has been agreed that both serving cell measurement and neighbour cell measurement (Tmeasure,NR and Tevaluate,NR) shall be constrained to be within a single PTW. The remaining open issues mainly focus on which PTW to use when INACTIVE UE configured with both RAN PTW and CN PTW.
Below we attached RAN2 agreements related to the relationship of RAN PTW and CN PTW:
	· For the overlapping PH, RAN PTW starting location is determined based on CN eDRX cycle.
· For the non-overlapping PH, PTW starting location for RAN PTW is determined based on the CN eDRX cycle.
· In an overlapped or non-overlapped PH: Within RAN PTW and outside CN PTW, T = RAN configured DRX cycle
· [bookmark: OLE_LINK10]If this is even a valid case (we will decide later): In an overlapped PH: Within CN PTW and outside RAN PTW, T = min {CN configured DRX cycle, default paging cycle broadcast in system information}.
· [bookmark: OLE_LINK11]In an overlapped PH: Within both CN PTW and RAN PTW, T = min {CN configured DRX cycle, RAN configured DRX cycle, default paging cycle broadcast in system information}.


RAN2 has confirmed that the PTW starting locations for INACTIVE eDRX and IDLE eDRX are aligned when they coincide in the same PH. However, the relationships between the RAN PTW length and CN PTW length are not stable yet. The feasibility of RAN PTW length＞CN PTW length is still under discussion in RAN2. 
From our understanding, when configured with both IDLE and INACTIVE eDRX longer than 10.24s, the PTW configuration and corresponding T could be classified into the following cases based on current RAN2 progress.
Case 1a: In an overlapped PH: Within RAN PTW and outside CN PTW, T = RAN configured DRX cycle
[bookmark: OLE_LINK13]Case 1b: In a non-overlapped PH: Within RAN PTW and outside CN PTW, T = RAN configured DRX cycle
Case 2: In an overlapped PH (FFS the validity): Within CN PTW and outside RAN PTW, T = min {CN configured DRX cycle, default paging cycle broadcast in system information}
Case 3: In an overlapped PH: Within both CN PTW and RAN PTW, T = min {CN configured DRX cycle, RAN configured DRX cycle, default paging cycle broadcast in system information}
[bookmark: OLE_LINK6]Fig 1a and Fig 1b briefly illustrate the cases mentioned above, where in Fig 1a RAN PTW length＞CN PTW length and in Fig 1b RAN PTW length＜CN PTW length.


Figure 1. illustration on the potential IDLE and INACTIVE eDRX configuration
When IDLE and INACTIVE eDRX PTW do not coincide (in a non-overlapped PH, i.e. case 1b in Fig.1), there exists only one set of PTW and T, so measurement could simply performed based on the RAN PTW and T=RAN configured DRX cycle.
Proposal 1: When configured with both IDLE and INACTIVE eDRX configurations larger than 10.24s and when the RAN PTW and CN PTW do not coincide, RAN4 to agree that:
· The number of samples needed for Nserv of serving cell measurement must be contained in a single RAN PTW;
· The number of samples needed for Tmeasure,NR /Tevaluate,NR of neighbor cell measurement must be contained in a single RAN PTW.
When IDLE and INACTIVE eDRX PTW coincide (in an overlapped PH, i.e. case 1a, case 2 and case 3 in Fig.1), different inclusion relations exists based on potential RAN PTW length and CN PTW length configuration. It is up to RAN4 which PTW to use when defining the measurement requirement. In our understanding, it would be more straightforward to use RAN PTW.
Proposal 2: When configured with both IDLE and INACTIVE eDRX configurations larger than 10.24s and when the PTWs are partially overlapping, RAN4 to agree that:
· The number of samples needed for Nserv of serving cell measurement must be contained in a single RAN PTW;
· The number of samples needed for Tmeasure,NR /Tevaluate,NR of neighbor cell measurement must be contained in a single RAN PTW.

3 Conclusion
Proposal 1: When configured with both IDLE and INACTIVE eDRX configurations larger than 10.24s and when the RAN PTW and CN PTW do not coincide, RAN4 to agree that:
· The number of samples needed for Nserv of serving cell measurement must be contained in a single RAN PTW;
· The number of samples needed for Tmeasure,NR /Tevaluate,NR of neighbor cell measurement must be contained in a single RAN PTW.
Proposal 2: When configured with both IDLE and INACTIVE eDRX configurations larger than 10.24s and when the PTWs are partially overlapping, RAN4 to agree that:
· The number of samples needed for Nserv of serving cell measurement must be contained in a single RAN PTW;
· The number of samples needed for Tmeasure,NR /Tevaluate,NR of neighbor cell measurement must be contained in a single RAN PTW.
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